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QUESTION 1

Which two statements are true about archiving? (Choose two.)

A. Archiving is performed exclusively to tape.

B. Archiving is an open source technology based on Cinder and OpenStack.
C. The purpose of archiving is the long term preservation of information.

D. Archiving can be used as a response to meet regulatory requirements.

Correct Answer: CD

QUESTION 2

A customer hires you to create an incremental backup scheme. Which solution would you recommend to the customer?
A. Create a backup scheme that will do a full backup and then only backup selected files.

B. Create a backup scheme that will do a full backup and then only backup changed data since the last backup.

C. Create a backup scheme that will do a full backup and then only backup changes since the full backup.

D. Create a backup scheme that will do a full backup and then only backup files selected by the host owner.

Correct Answer: B

QUESTION 3

What are two requirements of a server cluster with regards to storage technologies? (Choose two.)
A. afile locking mechanism

B. a back-end storage database

C. a switch fabric

D. shared storage

Correct Answer: CD

QUESTION 4
Which backup technique is the slowest in terms of backup time?
A. differential backup

B. mirror backup
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C. incremental backup
D. full backup

Correct Answer: B

QUESTION 5

You explain to a customer that storage data compression can be used on most data types. However, there are
exceptions. Which file type is an exception?

A. *.bat
B. *.jpg
C. *.txt
D. *.ora

Correct Answer: BD

QUESTION 6

Which two technologies are part of the Data Center Bridging (DCB) standard? (Choose two.)
A. Enhanced Transmission Selection (ETS)

B. Fibre Channel over IP (FCIP)

C. Priority-based Flow Control (PFC)

D. Internet key Exchange (IKE)

Correct Answer: AC

QUESTION 7

According to SNIA, what are two valid storage tiering types? (Choose two.)
A. host tiering

B. application tiering

C. storage cache tiering

D. cloud tiering

Correct Answer: CD
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QUESTION 8

What are two scenarios where using disk replication is a valid risk mitigation strategy? (Choose two.)
A. a primary storage array non-recoverable hardware failure

B. an extended power failure at the primary site

C. information destruction due to a security breach

D. system instability due to a bad OS update

Correct Answer: AB

QUESTION 9

Which type of server initiates an NDMP backup?
A. directory server

B. NDMP server

C. application server

D. database server

Correct Answer: B

QUESTION 10

What would be placed in a Fibre Channel zone?
A. MAC address

B. IQN of an initiator

C. |p address

D. World Wide Port Name (WWPN)

Correct Answer: B

QUESTION 11

Which hardware component transports FC and IP traffic?
A.NIC

B. CNA

C.iscsl
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D. RAID array

Correct Answer: B

QUESTION 12

You have a RAID 5 set with five disks at 400 GB each. Approximately how much usable space would this configuration
yield?

A. 1 terabyte

B. 2 terabytes
C. 1.2 terabytes
D. 16 terabytes

Correct Answer: C

QUESTION 13

Software Defined Storage (SDS) uses which type of technology to function?
A. replication

B. virtualization

C. authentication

D. Application

Correct Answer: B

QUESTION 14

What is the default port that iSCSI traffic uses?
A. 3260

B. 80

C. 443

D.53

Correct Answer: A

QUESTION 15
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Your customer has a Fibre Channel SAN environment and has properly zoned servers for storage with front end
controller ports. When an administrator goes to initialize a provisioned volume, it is not seen on the server. What would
cause this problem1?

A. an unplugged cable

B. a multi-path 1/O failure

C. a corrupted volume

D. improper LUN masking

Correct Answer: B
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